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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
MISCELLANEOUS

Almroth Wright first showed that dead bacteria could serve as one.  Other types contain toxoids, subunits of microorganisms, and live and attenuated microorganisms.  Name this method of acquired immunity taken from the Latin for ‘cow,’ whose examples include BCG for tuberculosis and Sabin and Salk for polio.

ANSWER: vaccine
TOSSUP 2
SOCIAL STUDIES

As finance minister for his not-yet-formed nation, he secured a $6 million loan in 1919 from American sympathizers. He believed the General Post Office could not be defended during the Easter Rising; his ‘flying columns’ tactic helped win the next war. However, he broke with Eamon (ee-mon) de Valera over the Anglo-Irish Treaty. What first commander of the Irish Army was assassinated on August 22, 1922? 


ANSWER: Michael Collins
TOSSUP 3
LITERATURE

In 1613, a cannon shot in this play’s Act III, Scene 4 caused the Globe Theater to burn down. At the start of the play, Buckingham is convicted of high treason and executed. At the end of the play, Archbishop Cranmer predicts that the girl he baptizes will die a virgin and be a great Queen. Cardinal Wolsey, Queen Katharine, and Anne Bullen are other characters in what Shakespeare play about an oft-married king?

ANSWER: Henry VIII
TOSSUP 4
SOCIAL STUDIES

People convicted in connection with this scandal included several Madison Guaranty Savings & Loan executives, as well as David Hale, Jim McDougall, Susan McDougall, Webster Hubbell, and Jim Guy Tucker. It required Robert Fiske, Robert Ray, and Ken Starr to investigate it. What scandal started in 1978 with a failed attempt to sell vacation homes, and did not lead to the indictment of Bill or Hillary Clinton? 

ANSWER: Whitewater
TOSSUP 5
SCIENCE

This kind of particle gets its name from the Greek for thick.  Those composed of three quarks are called baryons and those composed of a quark-antiquark pair are called mesons.  Name this type of subatomic particle that interacts with the strong force that is the H in the CERN particle accelerator LHC.

ANSWER: hadron(s)

TOSSUP 6
MATH

According to Brun’s theorem, the sum of all their reciprocals converges.  Although not yet proven, Euclid conjectured that there were infinitely many of them.  Examples of them include 827 and 829; 107 and 109; and 5 and 7.  Name this type of prime number that differs from another prime number by two.

ANSWER: twin prime

TOSSUP 7
LITERATURE

They are assisted by Tony Prito and Phil Cohen. Their girlfriends are Callie Shaw and Iola Morton. Their current series is titled Undercover Brothers. They teamed with Tom Swift in the Ultra Thriller series and with a famous girl in the SuperMystery series. The Tower Treasure, credited to Franklin Dixon, was the first mystery novel featuring what detective brothers, Frank and Joe? 

ANSWER: Hardy Boys
TOSSUP 8
SCIENCE

Its scientific name is Haliaeetus (hah-lee-eye-tus) leucocephalus (loo-koh-seh-fuh-lus).  It is brown with a white head and tail and on June 28, 2007, was removed from the Endangered Species List.  The reason it was originally on the list was due to thinning of its egg shells due to DDT.  Name this bird that is a national symbol.

ANSWER: bald eagle
TOSSUP 9
FINE ARTS

He wrote the novels The Transit of Venus and The Fifth String, which reflected his primary musical interest. He was a championship-level trap shooter and horseback rider. He wrote operettas, like The Queen of Hearts and The Bride Elect. What bandleader, who refused to conduct if he was being recorded, is known for works such as Washington Post and Stars and Stripes Forever, and was known as the “March King”? 

ANSWER: John Philip Sousa
TOSSUP 10
MATH

THIS IS A COMPUTATION QUESTION. What is the greatest common factor of 180 and 108?

ANSWER: 36
TOSSUP 11
SCIENCE

It has an azimuthal quantum number of three.  It has seven orbitals that have very complex shapes.  The lowest n for which it exists is four.  Name this type of electron subshell that can hold up to fourteen electrons and is the fourth type of subshell to be filled in an electron configuration.

ANSWER: f subshell

TOSSUP 12
LITERATURE

This goddess is also part of Voodoo’s pantheon, where she is Baron Samedi’s (sahm-dee) wife and the Lady of the Cemetery, and remains depicted as a redhead. A 5th century Christian saint is associated with her and has the same name; today, 19 nuns tend to her perpetual flame in Kildare. Metalwork and healing were part of the duties of what triple goddess of Celtic myth? 

ANSWER: Bridget or Brigit
TOSSUP 13
LANGUAGE ARTS

This language became widely used after linguistic studies by William Stokoe in the 1950s. It was developed in the 19th century from the Old French and Martha’s Vineyard languages. A simplified version can be taught to infants to help their linguistic development. At times, the eyebrows, head, and even the mouth are used for communication. Over a million people communicate using what language of the Deaf? 

ANSWER: American Sign Language or Ameslan or ASL (prompt on “sign language”)

TOSSUP 14
SOCIAL STUDIES

George Airy set it up in 1851 and France did not accept it until 1911 despite an 1884 international conference’s decision.  It passes through Ghana, Togo, Burkina Faso, Mali, Algeria, Spain, France, and the United Kingdom, and it makes a complete circle with the International Date Line. What line that passes through a London observatory is zero degrees longitude? 

ANSWER: Prime Meridian (accept zero degrees longitude before it is said, or “Greenwich” or “International” instead of “Prime”)
TOSSUP 15
MATH

THIS IS A COMPUTATION QUESTION. What is 1728 (read it as: one thousand, seven hundred, and twenty-eight) divided by 36?

ANSWER: 48
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LITERATURE

He settled in Imladris, and was Gil-galad’s herald during the Last Alliance of Elves and Men. His brother Elros was the first king of Numenor. He married Celebrian in year 109 of the Third Age, and had three children: twin sons Elladan and Elrohir, and a daughter, Arwen. Rivendell was the home of what great prince, who convened a Council where the Fellowship of the Ring was formed?


ANSWER: Elrond Half-elven

BONUS 16
SOCIAL STUDIES

Identify these Communist dictators from clues. 

A.
He made Albania virtually isolated between 1946 and 1985. 


ANSWER: Enver Hoxha (HAW-jah)

B.
He ruled Romania between 1965 and 1989.


ANSWER: Nicolae Ceauşescu (choh-SHAYS-koo)
C.
He ruled Yugoslavia between 1946 and 1980. 


ANSWER: Joseph Broz Tito
D.
He declared martial law in Poland in 1981, and was actually the first President of post-Communist Poland, yielding power to Lech Walesa. 


ANSWER: Wojciech (voy-tsee-ayk) Witold (vee-told) Jaruzelski (yah-roo-zel-skee)

TOSSUP 17
SCIENCE

Its chemical formula is C29H53NO5 and it is sold by GlaxoSmithKline.  Side effects include increased flatulence and oily and loose discharge.  It works by inhibiting pancreatic lipase, thus preventing some absorption of fat.  Name this version of Orlistat that is the first over-the-counter weight loss drug to be FDA approved.

ANSWER: alli
BONUS 17
MATH

THIS IS A COMPUTATION QUESTION. What are the values of the following factorials?

A.
Zero factorial.




ANSWER: one
B.
Three factorial.



ANSWER: 6
C.
Two factorial plus four factorial.

ANSWER: 26
D.
Six factorial minus five factorial.

ANSWER: 600
TOSSUP 18
MISCELLANEOUS

He is the namesake of the lawsuit that allowed NBA players to declare free agency. He perfected the fadeaway jumper and head fake. He is also the only NBA player to average, over an entire season, more than 10 points, rebounds and assists per game. He led the Milwaukee Bucks to their only NBA title in 1971. What basketball player, a graduate of the University of Cincinnati, was nicknamed ‘The Big O’? 

ANSWER: Oscar Robertson
BONUS 18
LITERATURE

Answer these questions about the mythology of Thebes.

A.
What most famous Theban king blinded himself after finding out who, exactly, was his wife?


ANSWER: Oedipus

B.
What leader of the Seven Against Thebes was not allowed a proper burial?

ANSWER: Polynices (paw-lih-neye-seez)

C.
What uncle of Polynices made this cruel decree?


ANSWER: Creon
D.
Who founded the city of Thebes with the help of five men called Spartoi (spar-toy) that sprung up from dragon’s teeth? 


ANSWER: Cadmus
TOSSUP 19
MATH

THIS IS A COMPUTATION QUESTION. What is the diameter of a circle with an area of 25 pi square feet?

ANSWER: 10 feet
BONUS 19
LITERATURE

Answer these questions about a French novel.

A.
This 1831 novel is set in the 15th century at a titular cathedral in Paris.

ANSWER: The Hunchback of Notre Dame

B.
This French romantic author penned The Hunchback of Notre Dame.

ANSWER: Victor Hugo

C.
Quasimodo, the title character, attempts to kidnap this gypsy woman for his master at the novel’s outset.

ANSWER: Esmerelda

D.
Esmerelda is lusted after by this priest who takes Quasimodo in as a child.

ANSWER: Claude Frollo

TOSSUP 20
SOCIAL STUDIES

The Harvester decision established this in Australia. Surprisingly, Norway and Sweden do not have them. The United Kingdom made a law setting one in 1999, and it goes higher depending on age. Canada has one that goes higher after someone has worked 500 hours. £5.35 (five pounds thirty-five pence) an hour in the UK, $7 an hour in Ontario, and $5.85 an hour in the US is what rate that qualified workers must be paid? 


ANSWER: minimum wage
BONUS 20
LANGUAGE ARTS

Give these really cool words that often come up in European history discussions.

A.
This word, meaning “to throw from a window,” was coined around the time of such an event happening in Prague in 1618.

ANSWER: defenestrate/defenestration 

B.
This word, literally French for “sling,” refers to the slings used to break windows during a rebellion during the civil wars of the 17th century in France.

ANSWER: Fronde

C.
This Latin-derived word, referring to any gap between rulers, is used most often in the time between the death of a pope and election of a new one.

ANSWER: interregnum

D.
From the Latin for “whip,” this term refers to the practice of monks whipping themselves.

ANSWER: flagellation

TOSSUP 21
MATH

THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix with top row of 7 and -3 and bottom row of 2 and 3?

ANSWER: 27
BONUS 21
SOCIAL STUDIES

Answer the following about southeastern Missouri.

A. 
This mountain is the highest point in the state of Missouri.

ANSWER: Taum Sauk Mountain

B. 
Taum Sauk Mountain is in this Mountain range on the Ozark Plateau.

ANSWER: Saint Francois Mountains
C. 
Name this state park that was hit with a catastrophic flood due to the failure at the Taum Sauk pumped storage plant nearby.

ANSWER: Johnson’s Shut-in State Park

D. 
This national forest contains over 1.5 million acres mostly in the south eastern part of Missouri.

ANSWER: Mark Twain National Forest


TOSSUP 22
LITERATURE

When it first appeared, ‘As if it had been a Christian soul / We hailed it in God’s name,’ and then, ‘A good south wind sprung up behind,’ enabling an escape from Tierra del Fuego. After its death, the south wind went away, stopping the ship it had been following. Its corpse was hung around the neck of the person that had slain it with his crossbow. Who is this avian character in The Rime of the Ancient Mariner? 


ANSWER: the Albatross
BONUS 22
SCIENCE

Name these hydrocarbons used as fuels.

A.
This simplest hydrocarbon is found in natural gas.

ANSWER: methane or CH4
B.
Many barbeques use this three-carbon compound as fuel.

ANSWER: propane or C3H8
C.
This is the primary fuel used in cigarette lighters.

ANSWER: butane or C4H10
D.
This simplest compound with a carbon-carbon triple-bond is used in blowtorches.

ANSWER: acetylene or ethyne or C2H2
TOSSUP 23
SOCIAL STUDIES

Pope Eugenius III made a bed for her and her first husband, and she didn’t murder her second husband’s mistress, Rosamund Clifford. Failure to produce a male heir and disagreements in the Second Crusade ended her marriage to Louis VII of France. Support of her son Geoffrey during a revolt led to a 15-year imprisonment by her second husband, Henry II. The mother of Richard the Lion-Hearted was what Duchess of Aquitaine?


ANSWER: Eleanor of Aquitaine 

BONUS 23
MATH

THIS IS A COMPUTATION QUESTION. Making sure to give units, what are the perimeters of the following shapes? 

A.
A square of area 2025 square feet.


ANSWER: 180 feet
B.
A rectangle of length 10 feet and area 50 square feet.


ANSWER: 30 feet
C.
A rectangle of length 12 feet and width 9 feet.
ANSWER: 42 feet
D.
A square of side length 44.5 feet.


ANSWER: 178 feet
TOSSUP 24
FINE ARTS

It was closed between 2002 and 2004 as architect Yoshio Taniguchi redesigned it. Admission after 4 p.m. on Fridays is free instead of $20 due to sponsorship from Target. It was founded by Abby Aldrich Rockefeller and opened in November 1929. Today it is the home to works such as Campbell’s Soup Cans, The Starry Night, and Les Demoiselles d’Avignon (lay deh-mwah-zel dah-veen-yohn). What is this museum in New York City that hosts contemporary art? 


ANSWER: Museum of Modern Art or MOMA
BONUS 24
SCIENCE

Its subspecies include the Bengal.

A.
Name this largest living feline.

ANSWER: tiger [accept Panthera tigris or Amur tiger or Panthera tigris altaica]

B.
On how many continents are wild tigers currently native?

ANSWER: one [Asia]

C.
Like the lion, the tiger belongs to this genus.

ANSWER: Panthera [pan-THAY-ruh]

D.
Surprisingly, females of these hybrids between male lions and female tigers can be fertile.

ANSWER: ligers [LY-gurs]

TOSSUP 25
SCIENCE

First performed in 1909, it uses a uniform electric field consisting of parallel plates with a large potential difference and drops of liquid that move depending on gravity and the voltage.  Name this experiment that measured the electric charge of the electron and won its namesake the 1923 Nobel Prize for Physics.

ANSWER: Millikan oil drop experiment

BONUS 25
MISCELLANEOUS

Identify these old-time radio shows.

A.
The ‘Kingfish’ and ‘Lightning’ were two of the friends of what African-American duo?



ANSWER: Amos ‘n’ Andy
B.
Marshal Matt Dillon kept order in Dodge City in what show that later ran for 20 years on television?


ANSWER: Gunsmoke
C.
Sergeant Friday was a member of the Los Angeles Police Department in what series that ran on radio between 1949 and 1957?


ANSWER: Dragnet
D.
WSM-AM in Nashville has been broadcasting what show since October 18, 1925?


ANSWER The Grand Ole Opry
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
LANGUAGE ARTS

Spell out the suffix that is used to form the comparative form of an adjective when the adverb ‘more’ is not placed before it. 

ANSWER: -er  

TOSSUP 27
LITERATURE

Believers practice a diet called I-tal (eye-tul). Ceremonies in it include ‘reasonings’ and ‘grounations.’ It calls existing power structures ‘Babylon.’ It believes that the Bible has been mistranslated to further White power, and some believers hold in esteem Kebra Nagast, a book of Ethiopian legends. What religion is known for its worship of Haile Selassie I as Messiah and for its ritual use of marijuana? 


ANSWER: Rasta(fari) or Rastafarianism
TOSSUP 28
MISCELLANEOUS

This man quit his job for just five minutes, and a nuclear bomb went off.  It only took him a shower, shave and change of clothes to recover from 20 months of Chinese torture, and he is the only person to make Chloe O'Brien forget about her personality disorder and patch his call through.  Who is this man, counterterrorist agent extraordinaire and protagonist of the Fox show 24?

ANSWER: Jack Bauer
TOSSUP 29
MATH

THIS IS A COMPUTATION QUESTION. Where are the vertices of the hyperbola x squared over 81 minus y squared over 144 equals 1, given that the hyperbola x squared over a squared minus y squared over b squared equals 1 has vertices at (a, 0) and (-a, 0)?

ANSWER: (9, 0) and (-9, 0)
TOSSUP 30
LITERATURE

A few new novels in this series feature Moist von Lipwig and Tiffany Aching. Others are about the witches in the kingdom of Lancre. Others feature Death and his adopted granddaughter, Susan. However, most of the novels are about the City Watch of Ankh-Morpork and its resident Wizard, Rincewind. What is this science fiction series by Terry Pratchett set on a flat planet? 


ANSWER: Discworld
TOSSUP 31
SOCIAL STUDIES

It was written after the seizure of the Black Warrior. Then-Secretary of State William Marcy authorized this document written by Pierre Soulé (soo-lay), John Mason, and James Buchanan. Its revelation caused a crisis in Europe and outrage among anti-slavery forces. Eventually Marcy and then-President Franklin Pierce had to disavow it. What secret document, written in 1854, offered $120 million for Cuba? 


ANSWER: Ostend Manifesto

TOSSUP 32
SCIENCE

It is a polygamous omnivore with three toes.  This ratite bird is in the same family as the kiwi, the extinct moa, the ostrich, and the emu; and its two species are known as americana and pennata.  Name this large flightless bird native to South America.

ANSWER: rhea
TOSSUP 33
SOCIAL STUDIES

In The Vatican Decrees in Their Bearing on Civil Allegiance, he urged British Catholics to reject papal infallibility. As Prime Minister, he oversaw the disestablishment of the Church of Ireland, abolished the sale of officer commissions, and got the Third Reform Act of 1884 passed. What 19th century Liberal Prime Minister served four terms and was a bitter rival of Benjamin Disraeli? 


ANSWER: William Gladstone
TOSSUP 34
LITERATURE

The title character of this novel becomes depressed after being kicked out of Lantern Yard and having his money stolen by Dunstan Cass. His adopted daughter is the daughter of Godfrey Cass and his opium-addict wife, Molly. The daughter forsakes social rank and marries Aaron Winthrop. What novel by George Eliot is about a weaver who replaces his pot of gold with his adopted daughter, Eppie? 


ANSWER: Silas Marner
TOSSUP 35
MATH

One of side length x has a surface area of 5 square roots of 3 times x squared and a volume of five-twelfths times (3 plus square root of 5) times x cubed.  It has 30 edges and 12 vertices.  Name this dual polyhedron of the dodecahedron, a Platonic solid with 20 triangular faces. 

ANSWER: icosahedron
TOSSUP 36
SOCIAL STUDIES

The Rungrado May First Stadium in this city celebrates the eternal achievement of the worker committed to the goal. The Arch of Triumph represents the great victories won against the imperialist United States for the cause of socialism. The Juche (joo-chay) Tower reminds all of the glorious power of self-reliance. What supreme vanguard on the Taedong River is the great capital of the Democratic People’s Republic of Korea? 


ANSWER: Pyongyang, North Korea

TOSSUP 37
SCIENCE

It was first identified in 1952 by Albert Ghiorso from the debris of the first hydrogen bomb test.  Nineteen radioisotopes of it have been characterized, with mass number 252 having the longest half-life of 471.7 days.  Name this transuranic actinide with atomic number 99 that is named after a German physicist.

ANSWER: einsteinium
TOSSUP 38
FINE ARTS

Ari Halberstam was killed here in a 1994 shooting, and in 2003, Iyman (eye-man) Faris was convicted of masterminding a plot that would’ve used blowtorches to cut down its cables. John Augustus and Washington Roebling designed it, and its towers were once the tallest structures in the Western Hemisphere. What bridge, when it opened on May 24, 1883, was the longest suspension bridge in the world and was quickly put on sale? 


ANSWER: Brooklyn Bridge

TOSSUP 39
MATH

It contains POP3, DNS, FTP, DHCP, HTTP SSH, and SMTP. It doesn’t contain IPv4, RIP, DCCP, Token Ring or FDDI. Name this seventh layer of the OSI model or the fifth of the five layer TCP/IP model that is the final layer before the end user of a network.

ANSWER: Application Layer

TOSSUP 40
SCIENCE

It can be over 100% in a Wilson cloud chamber, and is 100% if the temperature and dew point are equal. What term is given to the ratio of water vapor in the air as compared to the maximum amount of water vapor that can exist at a given temperature?

ANSWER: relative humidity (prompt on ‘humidity’)

Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LITERATURE

In Part Six of this novel, the title character reunites with his Egyptian maid Amrah, but does not discover that his mother and sister have become lepers. In Part Three, Quintus Arrius adopts him, despite going to the gallows in Part Two for accidentally injuring Valerius Gratus. In the Epilogue, he marries Esther, and Iras kills Messala. What is this novel whose Part Five contains a famous chariot race? 


ANSWER: Ben-Hur: A Tale of the Christ
BONUS 41
MISCELLANEOUS

Given a detail of an American beef cut, give its common name.
A.
Located right behind the cow’s head and extends to the outside of the front legs, it is the most common location for Hamburger.

ANSWER: Chuck
B.
Right below the chuck section is this main cut used for Bar-B-Que and Corned Beef.

ANSWER: Brisket
C.
 The closet cut to the cow’s tail, it extends to the front side of the hind legs and it contains a top and bottom portion used for roasts.

ANSWER: Round
D.
This tough cut comes from the top of the cows legs. It is used mostly for stew, soups and stock.

ANSWER: Shank
TOSSUP 42
MATH

THIS IS A COMPUTATION QUESTION. How many cubic feet big is a box of width 2 yards, depth 1 yard, and height 3 yards, remembering that there are 27 cubic feet in one cubic yard?

ANSWER: 162 cubic feet
BONUS 42
FINE ARTS

Given a famous line, name the original film.

A.
Al Jolson says, "Wait a minute!  Wait a minute!  You ain't heard nothin' yet!"

ANSWER: The Jazz Singer
B. 
Alfonso Bedoya protests, "We don't have to show you any stinking badges!"

ANSWER: The Treasure of the Sierra Madre
C. 
Groucho Marx barks, "You haven't stopped talking since I came in here; you must've been vaccinated with a phonograph needle!"

ANSWER: Duck Soup
D. 
Humphrey Bogart says, "Louie, I think this is the beginning of a beautiful friendship."

ANSWER: Casablanca
TOSSUP 43
LITERATURE

Bernard Williams criticized this phrase in his work The Project of Pure Enquiry. It appears in Discourse on Method and Principles of Philosophy, but notably does not appear in Meditations on First Philosophy. It is perhaps the most famous application of the instantiation principle, which holds that if something has a property, it exists. In what phrase coined by René Descartes is his own existence proven by his thought?

ANSWER: “I think, therefore I am” or “Cogito ergo sum” (caw-GHEE-toh AIR-goh soom)

BONUS 43
LITERATURE

This 1855 work is based on the legends of the Ojibwa Indians.

A.
Name this American epic poem.

ANSWER: The Song of Hiawatha
B.
This American poet wrote The Song of Hiawatha.

ANSWER: Henry Wadsworth Longfellow

C.
Longfellow also wrote the tale of this Boston patriot’s “midnight ride” in the Revolutionary era.

ANSWER: Paul Revere

D.
Give the month, day, and year of Paul Revere’s famous ride, mentioned in the poem.

ANSWER: April 18, 1775

TOSSUP 44
SOCIAL STUDIES

Before his 1848 death, he had bought large parcels of land in north Manhattan, and he was worth $116 billion in today’s dollars. He financed the second cross-continent American expedition; that expedition discovered the South Pass and set up a fort named for him on the Oregon coast. The first American millionaire was what fur trader?


ANSWER: John Jacob Astor
BONUS 44
SOCIAL STUDIES

Identify these terms about a brain development disorder.

A.
Impaired social interaction and language development combined with repetitive behavior are the signs of what disorder that is the ‘A’ in ASD?


ANSWER: autism
B.
High-functioning autism is often blurred with what syndrome named for the Austrian physician who discovered it – sufferers don’t have language problems but do have social interaction issues and clumsiness issues?


ANSWER: Asperger syndrome or Asperger’s syndrome

C.
One thing blamed for increasing autism rates is the presence of thimerosal in what procedure that all infants undergo frequently? 


ANSWER: vaccine(s) or vaccination(s)

D.
One sign of autism is what condition where someone simply repeats the words of others?


ANSWER: echolalia
TOSSUP 45
MATH

THIS IS A COMPUTATION QUESTION. What is 84 percent of 2200?

ANSWER: 1,848
BONUS 45
SCIENCE

It is the tendency of an atom to attract electrons in a chemical bond.

A.
Name this chemical property.

ANSWER: electronegativity [accept word forms]

B.
This most common electronegativity scale assigns dimensionless values of up to about 4.0 to elements.

ANSWER: Pauling scale

C.
This element is the most electronegative element on the Pauling scale.

ANSWER: fluorine
D.
Among elements with stable isotopes, this element is the least electronegative element on the Pauling scale.

ANSWER: cesium [or caesium]

TOSSUP 46
SOCIAL STUDIES

They allied with the Bourbons in the failed Amboise (am-bwahz) plot of 1560. The first wave of persecution began after the Affair of the Placards, and the second wave began with the Edict of Fontainbleau (fawn-ten-bloh) in 1685. In 1572, thousands were killed during the St. Bartholemew’s Day massacre, although they were protected in 1598 by the Edict of Nantes. What nickname was given to French Protestants?

ANSWER: Huguenot(s) (accept French Protestants before it is said in the question.)

BONUS 46
LITERATURE

Name the following Mark Twain characters.

A.
This love interest of Tom Sawyer is the daughter of a judge.

ANSWER: Becky Thatcher (accept Rebecca for Becky, either name alone is acceptable)

B.
Huckelberry Finn lives with this widow.

ANSWER: Widow Douglas

C.
Huck rafts down the Mississippi River with this runaway slave.

ANSWER: Jim
D.
This gambling addict is the owner of Daniel Webster, the celebrated jumping frog of Calaveras County.

ANSWER: Jim Smiley (either name)

TOSSUP 47
LANGUAGE ARTS

This word’s origin is a Latin word meaning ‘wicker basket,’ although today it is used to describe a container made from any substance. In wartime, this eight-letter word refers to either the part of a gas mask that contains the filter, or as a nickname for case shot that is used against enemy soldiers at close range. What word, often abbreviated to its first three letters, refers to a metal container, and or to any cylindrical container? 

ANSWER: canister

BONUS 47
SCIENCE

Many physical quantites can be written as quotients. Given the quotient, give the quantity. We're looking for general answers such as “force.”

A.
Change in velocity per unit time

ANSWER: acceleration
B.
Energy per unit charge

ANSWER: voltage or electric potential [prompt on “potential”]

C.
Force per unit area

ANSWER: pressure
D.
Energy per unit time

ANSWER: power
TOSSUP 48
MISCELLANEOUS

It is named for the emblem on the flag of the nation that underwent it. It started with the assassination of Prime Minister Rafik Hariri (hah-ree-ree), and ended with the removal of all Syrian troops. What were these events of 2005 in Lebanon? 

ANSWER: Cedar Revolution

BONUS 48
MATH

What types of conic sections are the following?

A.
x squared plus y squared equals 150.


ANSWER: circle
B.
x squared over 9 plus y squared over 16 equals 1.
ANSWER: ellipse
C.
x squared over 49 minus y squared over 80 = 1.
ANSWER: hyperbola
D.
y = 7 times (x minus 4) squared minus 12.

ANSWER: parabola
TOSSUP 49
SCIENCE

Cats and humans have four of them, two of which are maxillary and two of which are mandibular.  The upper ones are called eyeteeth.  They are usually the largest teeth in the mouth and are located between the incisors and premolars.  Name this type of tooth that is also known as cuspid and is associated with dogs.

ANSWER: canine tooth/teeth (accept cuspid before mentioned)

BONUS 49
MATH

THIS IS A COMPUTATION QUESTION. Convert the decimal number 97 into…

A.
Roman numerals.

ANSWER: XCVII
B.
Binary.



ANSWER: 1100001
C.
Base 8.



ANSWER: 141
D.
Base 6.



ANSWER: 241
TOSSUP 50
SCIENCE

His work at Transmeta and his support of BitKeeper bring criticism from some open-source advocates. A member of Finland’s Swedish-speaking minority, he was named for a two-time Nobel laureate, but says his namesake is Lucy van Pelt’s blanket-using brother. Tux the penguin is the mascot of what developer and namesake of a UNIX-like operating system that runs on PCs? 

ANSWER: Linus Torvalds
BONUS 50
SOCIAL STUDIES

Name these figures of ancient Athens.

A.
Around 620 BC, what lawgiver created the first known written law code for Athens, a code noted for applying the death penalty for many offenses?


ANSWER: Draco
B.
Sometime in the early 6th century BC, he repealed all of Draco’s laws, put in place a new constitution, and then exiled himself for 10 years so he could not become a tyrant.


ANSWER: Solon
C.
He presided over Athens’ Golden Age, but died of an untimely plague in 429 BC.


ANSWER: Pericles
D.
This orator committed suicide in 322 BC rather than be captured by the Macedonians. His Philippics were an attempt to unite Greece against Philip of Macedon.


ANSWER: Demosthenes
END OF MATCH

Spare questions
TOSSUP 51
SCIENCE

This plant first made an appearance during the Centennial in Philadelphia at an exhibit designed by the Japanese government.  Men were given jobs during the Great Depression planting it for erosion control along highways.  Capable of growing more than a foot in a single day, what plant is notorious for choking off sunlight from trees and growing over everything in its path, earning the moniker "the vine that ate the South."  

ANSWER: kudzu
BONUS 51
SCIENCE

How many X chromosomes, and how many Y chromosomes, are characteristic of these conditions?

A.
A genetically normal human female

ANSWER: 2 X chromosomes and no Y chromosomes [accept equivalents for all parts; accept 46,XX]

B.
A male with Down syndrome

ANSWER: 1 X chromosome and 1 Y chromosome [accept 47,XY]

C.
A patient with Turner syndrome

ANSWER: 1 X chromosome and no Y chromosomes [accept 45,X or 45,XO]

D.
A patient with Klinefelter syndrome

ANSWER: 2 X chromosomes and 1 Y chromosome [accept 47,XXY]

TOSSUP 52
SOCIAL STUDIES

It was the result of the Kenyon Plan, which itself was the result of a 1951 Ford Foundation study that determined colleges and secondary schools should work together. Run by the College Board since 1955, several school systems cover its $83 cost. The International Baccalaureate program is offering increased competition to what program that provides college credit if a 3, 4, or 5 is scored on an end-of-year test? 


ANSWER: Advanced Placement Program or AP 

BONUS 52
FINE ARTS

Identify the following related things for five points each.

A.
An Infernal Dance followed by a Lullaby can be found in this Stravinsky ballet


ANSWER: The Firebird (accept L'Oiseau de Feu)

B.
The subtitle for this Alexander Scriabin [Scree-AH-bin] work is "The Poem of Fire"


ANSWER: Prometheus
C.
He wrote "Music for the Royal Fireworks"


ANSWER: George Frederic Handel
D.
The Ritual Fire Dance is the most famous movement from his ballet "Love the Magician"


ANSWER: Manuel de Falla
TOSSUP 53
LITERATURE

‘The New Art,’ his 1916 Harvard commencement address, gave him notoriety. He wrote four plays, including HIM, whose title was all capital letters. He is far better known for his poetry, though, which includes collections such as Tulips and Chimneys and Eimi (eye-mee). Unusual typography can be seen in individual poems such as ‘the sky was candy luminous.’ What poet is perhaps best-known for his rare use of capital letters? 


ANSWER: E(dward) E(stlin) Cummings
BONUS 53
LITERATURE

Answer these questions about Irish authors.

A.
This author’s only novel was The Picture of Dorian Gray.

ANSWER: Oscar Wilde
B.
This 1969 Nobel laureate is perhaps best known for Waiting for Godot.

ANSWER: Samuel Beckett
C.
A Portait of the Artist as a Young Man is one of the best known works of this Irish author, who wrote about Leopold Bloom.

ANSWER: James Joyce
D,
This Northern Irish author and 1995 Nobel laureate’s first collection of poetry was 1966’s Death of a Naturalist.

ANSWER: Seamus Heaney

TOSSUP 54
FINE ARTS

Marcel Cellier discovered him while he was a student at the Conservatory of Bucharest. He has since sold 120 million albums, and appeared in The Karate Kid and Kill Bill Vol. 1. Who is this Romanian master of the panflute? 


ANSWER: Gheorghe Zamfir
BONUS 54
SOCIAL STUDIES

Answer these questions about the United States labor movement. 

A.
Who was the founder and first president of the American Federation of Labor?


ANSWER: Samuel Gompers
B.
What riot in Chicago on May 4, 1886, started when someone threw a bomb at the police line overseeing a previously peaceful labor rally?


ANSWER: Haymarket Square Riot

C.
Uriah Stephens and Terence Powderly were the first leaders of what labor union that had fallen apart by 1900? 


ANSWER: (Noble and Holy Order of the) Knights of Labor
D.
What leader of the United Mine Workers between 1920 and 1960 was also the first president of the Congress of Industrial Organizations?

ANSWER: John L. Lewis
TOSSUP 55
MATH

THIS IS A COMPUTATION QUESTION. How many distinct ways can the letters in the word divide be arranged?

ANSWER: 180
BONUS 55
MISCELLANEOUS

Answer the following about one of the worst abuses of political power since Watergate.

A.
This person was at the heart of the scandal when it was leaked to the media that she was a CIA operative.


ANSWER: Valerie Plame or Wilson
B.
Plame’s husband, Joseph Wilson, had traveled to what African country to find if Saddam Hussein had bought yellowcake from it?


ANSWER: Niger (nee-ZHAY)

C.
This man, former chief of staff to Vice President Dick Cheney, was found guilty of perjury related to this affair. 


ANSWER: Lewis “Scooter” Libby
D.
To add more fuel to the political fire, President Bush decided to commute how many months of Scooter Libby’s sentence?


ANSWER: 30 months
TOSSUP 56
LANGUAGE ARTS

This five-letter word’s origin is a Latin word meaning, ‘to connect’ or ‘to bind.’ As a noun, it refers to a smaller building added to a larger building or to a close-by auxiliary building, especially ones associated with a church. As a verb, what word refers to any act of incorporation, such as a town adding to its boundaries, or a country swallowing part or all of another country? 

ANSWER: annex
BONUS 56
LANGUAGE ARTS

Answer these questions about languages.

A.
Amharic is the official language of what African country?


ANSWER: Ethiopia
B.
English is one of the, or the only, official language in 52 countries. What language, official in 29 countries, ranks second on that list, due to being spoken widely in West Africa?


ANSWER: French
C.
What language, understood by some 80 million people in East Africa, is the only native African language to be official in the African Union?


ANSWER: Swahili
D.
What language, still spoken by some 10 million people in South America, was the language of the Inca Empire?


ANSWER: Quechua
TOSSUP 57
MISCELLANEOUS

He was played on radio by William Conrad, but Conrad’s weight meant he was played by James Arness for 20 years on television. He frequently got Doc Adams to help with investigations, and always had his deputies, Festus Haggen and Chester Proudfoot. He never did marry the owner of the Long Branch, Miss Kitty Russell. What marshal for Dodge City, Kansas, was the main character of Gunsmoke? 
ANSWER: Marshal Matt Dillon
BONUS 57
MATH

THIS IS A COMPUTATION QUESTION. In what quadrants are the following points?

A.
(2, -78)


ANSWER: 4
B.
(-3, -7)


ANSWER: 3
C.
(-34, 23)

ANSWER: 2
D.
(3, 15)


ANSWER: 1
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